1. Which of the following statements is correct?

(C) Futures trading is a potentially high-risk and high-return trading activity.

2. Futures trading involves using leverage. Which of the following statements is
correct?

(B) Using high leverage will substantially increase risk.

3. Which of the following statements is correct?

(C) Users should set a stop loss for each position, use high leverage with caution
and try to avoid forced liquidation.

4. If you open a BTC Long position with 50x leverage, at what point would the
position be force liquidated?

(B) When the BTC price drops 1.8%.

5. Which of the following activities is wrong?

(A) Invest most of the assets or even borrow money for futures trading.

6. Investors should bear the risks of trading losses due to factors such as
network issues, network congestion and misoperation.

Answer - (A) Yes, | agree.
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